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25 DAYS - HARD CHALLENGE (SSC)

Q.1 Statement: / I
Xsaid to Y, "l want to do research on the effects of
secondhand smoke on children below the age of 5

years."
(@) Only assumption | is X%Y@fq’_&'ﬂ 'ﬁsw%mw%aﬁww%
implicit. U FT TG ° FI7T ATl THIT I AT HLAT ATZAT g1
Farer Qe | At 7l Assumptions : / THETIG :
(b) Both | and Il are implicit. |. The effect caused by secondhand smoke on
| S 1| Y siafRa &) children under 5 years of age can be known

through research.

|. 5 9T & i MY & g I I & gU Sl a8 &

(c) Neither I nor Il is implicit.

AT R A E U SR 2 S AT THTT FY NG F ATEAT § AT ST T &1
(d) Only assumption Il is  ||. X has the skill and aptitude for such research.
implicit.

Il. T T8 & M F g X F 919 Frerer i< TFar 2

S qAHTT || siafafga gl
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Q.2 A piece of paper is folded and punched as shown below in the =
question figures. From the given answer figures, indicate how it will appear
when opened./ FTTST T Tk THST LT AT ST ol © 94T i = R rg wr &
W;ﬂﬁwmwél fRu 7T ST F el °, T W) & g W e ag =
TS I

[ [ |\
(7 — 1]
/| i
\ | 1/
AN — 7]
[\ |/ |




Q. 3%#%@1@%@%@?&%
s e terfera st & aga & au I gl /
Select the set of numbers from the options,
which is similar to following set of numbers.

(60, 83, 37)

A-(167,28,72) B-(189, 29, 35)
C - (150, 35, 25) D - (160, 187, 133)
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/NN Q.4 In a certain code of language
-l E'ED> “COMBINATION” is coded as “56921592463"
Qe and “NIGHTMARE?” is coded as “591428795”,

so find the code of “ALLTOGETHER” from the

given alternatives? / ¥T9T & U& Miaa fie &

“COMBINATION” =T "56921592463" % €9 H

Fifed faT T g 3iX “NIGHTMARE” &t

"591428795" & &9 ¥ Hifeq (hdT T g, AT fkU

:s{q Aeeqi § § "ALLTOGETHER" &7 i€ FTq
¥y

A - 97855455444 B - 95825762331
C -98764543218 D - 95825643267
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Q.5 SUSIT ASTHIT FH & JATT AT 53T i
Zqieyd #<| / Arrange the following words
according to the English dictionary order.

1. Excellence
2. Excitement

3. Exclusive
4. Executive
5. Exception

6. Exclamation A-1756234 B-1572634
7.Excessive C-1573426 D-1754362
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Q.6 Select the option in which the =
given figure is embedded. / 39

ﬁmmwﬁf@lﬁﬁﬂ‘éwﬁ
Sqilzd gl g = >

i
\ _._I
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Q.7 3T T A=eqi § o et 9s8 T 999
&< / Select the related word from the given
alternatives:

Human : Food : Bike : ?

A - Heavy water B - Rain
C - Petrol D - Coconut Qil
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Q.8 Choose the Venn diagram form the given
7 45 options that best represents the relationship
| \ | amongst the following classes: / fT 7T classes %

S G T I 3= T A Teea HL aTel A g

I TEATH HLl
Son, Father, Grandfather
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Q.9 A T H T 313 TR T JATHIL oo T % hl SN ATHAT FLd g S
g, AT g9T9 %9 ¥ Ag11/ Eight persons sitting A-H, sitting around a
round table facing towards the center but not in same order.

1.A D % TS 3T ¥ T T 9T 93T § 3 D F & 978 i & o &3
g 937 g1 / A sits second to left of D, who sits third to the left of F.

2. E 3 B, F % qohter TSt &, AT E, A F 912 3K ¥ o 819 U<
d%ar gl / E and B are immediate neighbors of F, but E sits second to
the left of A.

3.CCHF IR AR AT ML ISATE, SIKHD F AT A5l S3T g1 CF
TS S o UL T 9 &I a3aT g2 / C sits second to the right of H,
who doesn’t sit with D.

A-B B-A
C-F D-G
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Q.10 Study the given pattern carefully and select™
the number from among the given options that
can replace the question mark (?) in it. fRT 1T
Yo T LATAYA S FETAT . 3T QT T FAwedi 7 4
S AT FT AT L ST SR THATAF (= (?) Fr
giaeaTiad T 9

(a) 18
(b) 17
(c) 21
(d) 19




Q.11 A series is given with one term missing.
Select the correct alternative from the given ones
that will complete the series. / T& srq®® 3T 14T

g, N &t 92 qF g] fRw wr faweat § 9 98 98t

e AT, ST Ty 1 91T FY
FGC, HHA, JIY, ?

A)KKW  B)LJW
C)LKX D) KJX
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Q.12 Statement: / FI:

The regional sales manager said to his colleague, "I am eagerly
waiting to present this year's report to the top management”.

g [l T9eF T a GgaARi ¥ Fagr, "’ 57 a9 it R v o
(a) Both assumption | and Il are e % FTHA T FTA HT JoghdT T T &I F< T 2"

implicit Assumption: / TETIT:

(b) Fa= M? ﬁélcl %,Fq e |. The company has made some new acquisitions in that area. .
Only assumption | is implicit. | S| & H FOAT ¥ Y T AR Y

OEEER I ENIT IR Il. The manager has important information which exerts an

influence on the top management.

Only assumption Il is implicit. ‘ St RS e
d) 7 & E | @ T & W"'WE?WW AT R A

gagTeer || siafetea gl




25 DAYS - HARD CHALLENGE (SSC)

Q.13 39 faseT &7 997 #< oad
Rerferiera st I 81 STaem| / Select
the option in which will complete the
following figure. |




Q.14 Select the missing letters from the given

alternatives. T 1T faseul § & & o7& T
T He
CDH:DEIl:: MNR: ?

A -NOM B -NOS
C - BGF D - NFG
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Q.15 FNS T TF THeT YT A YET e ST fF A Rumr vy %
et W a3 g1 Ru 1w 39 F stiwst 9, TRa & F ' o uw
g 9 fa@rs <9 / A piece of paper is folded and punched as
shown below in the question figures. From the given answer figures,
indicate how it will appear when opened.
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~Q.16 A man turned 35 years when his son was born. His wife"
was 38 years old when his only son attained the age of 7
years. The difference between the ages of the father and the
mother is __? / T =A<k 35 a9 T FT AT ST IHHT T YT g

Il Tt i A 38 TW off ST ST S td A hi o 7 gs| foar
ST HTAT s 3 T A< __ 87

(= D\> A - 4 years B - 5 years
4 C - 6 years D - 7 years
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Q.17 feu v faeai & 9 fAuw &1
=99 #<| / Select the odd one from
the given alternatives.

A-182 B-143
C-195 D-190
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Q.18 Two positions of the same dice are given, which of the following
number will be opposite to 2? /T gt T R A _H R e, A AT
FI |1 H§&A T 2 & Al g

B
D -
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Q.19 In a certain code of language, ‘+’ =
represents X', - represents ‘+’, ‘X’ represents
'+’ and ‘=’ represents ‘- what is the answer of
following expression; / Ife T fAtSra wTaT &+’
X T, SR, XY R TEI Y RT IaRtEE
AT g |MAferiea aeisr FT ST T g
35+10+260x13-70+210x3+5+2=7

A - 340 B -330
C -320 D -310
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A e I

/ Q.20 Arun cycles 6km north, then turns east and
C\ C ) /> cycles 4km, then turns south and cycles 6km, then
turns to his right and cycles 7km. Where is he now

with reference to his starting position? Arun 6km
AL H ATt Farar g, T 79 it < F=art § 3T 4km
qrsiher Farar g, FRT gferor it s g=ar g 3 6km
FATAT &, THT AT 3T 3T {=AT § 3T 7km ATt
FATdT g Wﬁwﬁmw%wﬁﬁw%’?/

A - 2km south B - 3km south
C - 3km west D - 12km east




e e api
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Q.21 A series is given with one word missing.
Choose the correct alternative from the given
ones that will complete the series. / T g&«T
<X TS g Foew uw g g § | R ww Rweat ®
ol 1 ST AT T H |

Wood, Oddest, Station, Onion, Onscreen, ?

A-Tide B -Electric
C - Energy D - Moon
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90,
129

A-108
C-115

93, 98,

B-105
D -120

?

Q.22 37 < FE@AT H AT H&AT
AT w2 / Find out the next
number in the series given.

116,




Q.23 Select the option that is related to the
third number in the same way as the second
number is related to the first number./ 3T

fAeeq &1 999 KA ST a9l T 9 39t
q g tad gl

223 :350::519: 7

(a) 736
(b) 687
(c) 654
(d) 645




(a) Neither | nor Il is implicit.

T ar | s T &1 1l =T g
(b) Only assumption | is
implicit.

had q@UToT | dqfdiea gl
(c) Both | and Il are implicit.

| S || =7 fafeiad 8l

(d) Only assumption Il is
implicit.

Ha qAUT || safaizga gl

Q.24 Statement: / I

An advertisement claims, "We manufacture the best bike
in India, which has high speed with unique safety
features." Presumption:

TF ASTae qET war 8, g WG W 999 STSEy aTSe &
Rt wxa €, o i 1l F T sifgde qrar g g 10"
T

|. There is no other bike in India with such safety features.

| T & T gar giAamsi aret FiE T aTeF Tl gl

Il. People can buy bike of this price.

II. TRT 59 F9q Y 975F G4 G 2




25 DAYS - HARD CHALLENGE (SSC0O)
Q.25 &9+ / Statements:
¥t Pears Dears 2 / All Pears are Dears
s Dears Mears gid g / Some Dears are Mears
% Mears Lears § / Some Mears are Lears

fAswy: / Conclusions
. $ Lears Pears & / Some Lears are Pears

|l. = dears lears g § / Some dears are lears

A - Fao A | sreE<er Far 8| / Only conclusion |

follows

B - 291 fAshy | 3T |l SAa<or #<d 3|/ Both the conclusions | and |
follow
C - T ar fAswy | 3 7 & |l sta<er #<ar g / Neither conclusion | nor I

follow
D - Fa<t AsHY || 39T 39T 2/ Onlv conclusion 1l follows
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